Selection pp — ttt — tx0 pp — bb,b — bx? PP — 49,9 — 9x°

my = 950 GeV my; = 1000 GeV mg = 1400 GeV

Mz = 100 GeV Mz =100 GeV Mz = 200 GeV

Nt > 2 99.9+0.2 98.8+0.5 99.1+05

Hr > 300 GeV 98.7 +0.4 98.3+0.5 98.9 £ 0.6

Hss > 300 GeV 745+ 1.2 79.6 + 1.4 88.1+ 1.4
Hss /Hy < 1 73.6+1.3 782+ 1.4 86.8+ 1.5
Ninuon = 58.7 1.4 779+ 14 86.7+ 1.5
(muon) ke =0 582+14 77.8+1.4 86.7 £1.5
Nelectron = 47.2+14 775+ 15 86.4+ 15
(eloctron) e = 464+14 772415 86.2+1.5
adron ke = 0 455+ 1.4 768+ 15 85.6+ 1.5
Nohoton = 0 43.8+14 752+ 15 83.6+1.6
Ay, > 0.5 43.6+14 751+ 15 83.5+ 1.6
Ay, > 0.5 41.1+14 70.6+ 1.6 78.7 +1.7
Ay j, > 0.3 39.8+1.4 67.0+ 1.6 744+18
Ay j, > 0.3 38.5+1.4 645+ 1.6 714+19
Event quality filter 36.7 £ 1.4 61.4+17 67.8+1.9




